U= B3 i [a] g e
4, FKEBLF 4
IKEEFE T IBFEE IR, JEEFEEETIREN
655 K B N 7K 824 4

P=A X

1-(1+i)™

1

, (1+i)™=0




U B e A

[5) IHEAEA R A TR 2 &k, FRtEHEFEE
BRI g . RESEHFERN—IK, REF &% 1) SRR
RITH/ 1000070, X¥ RS RAMEZRERIT, BIT—FH
TE B AR ZE 2%, W R AEER T 2/ DERIEARMERE S/
REIX — R SR DhIE AT ?

=, BTEEAREEZT200000c, FEEERMRE
— UK S F e, HIERNA:

P,=20000/2%=1000000 (JT)

Bl REAEZEAAFAN10000000fE NS, A REIRIEIX —%
e B BT




U 4 T

=. FEAHEE

TGRS ZIEN T YRR —I SEEEERRS
AR SR — 8 BRI BE 4T A4 043 IR 2 Y B A7 R % FH &
(CHIZEF, KFELA? )




i

— F = (A/F,i,n)

* .
(1+i)"—1

(14+)" -1
Hor. MAE GRS REE LT E
fiidka, ek, & “FEZEREER" , R)aRKEABZCKSE
- Bl ZHiE S R EF L ZE RN



U B e A

[61] 4564 MAESF J5 BB 10000015 55, MIRFERC R
FRFHFNRIT — I BRBCRATH FEN10%, NITRTEAE
BFEFHFANZ DT

22, A=F,Xi/[ (1+i) »-1]=10000X10%/[ (1+10%) 5-
11=10000X C(A/F, 10%, 5)

=10000 X 0. 1638=1638 (JG)




U B3 Ml el e

0. o B5 A [A] Ui
E A [RS8 A2 FR AE 2 € R N AU BT aa T N B A 1)
Sw., (2.HP, 3KA? D




T S E A

B 1-(14)7 _ , . i _D. :
A X : =A = (P/A,i,n) A=P _1_(1“)_“—13 (A/P,i,n)

HH: "o SN EL N E A G A G Ay
AEWH, AGS (A/P, i, n) £, AIE “FELIERH
K7, WERHEBEECKE. B BARARRARBZFEINERE
iOREEA




U B e A

(6] FAMEAF1000 77 T BEK, T AE104E A LA
12% A 2L, WEF NI & 082 DI
Zi2Z . A=1000X12%/[1- (1+12%) -10]~1769800 (JT)




0T B i e
[0- 2381 FHEF STE MBS, ERNH

A 3 E R U 3R B R A4 2 A1

B. AKEEFE L LA H HAE

C. IS F o LA H LA

D. Pilfs & 5 38 A 4 1 X B AE WSO AS 3k AAS [
E. I IE F S AH 5 5@ F SN A E I E 7L —
Z%: ABDE

fEfT: JEINC, It &Rl LA EIE



U B e A

L2351 T 516 F 5 il i Rk Riid i,
THE ¢ O .

A, ESEAE 4 48 BRI A B 4 B IR 2

B. S 2 BRI FIBLE 5 50 1 BIO6 R

C. 5 28 7 0 o R T S I B

D. 262 KR 26 FUBLE 5 50 I BIEO6

B, WA S T F ORI 4 e 4 B L I B B




Uy BE e e A

E%E: ABD

. BERZERBMERIE R E B BHZE
KRECHN A IE R B R, FREFEXMERBNENEE
KREENEE, HEFeIE REON A BCREE N EE,
FTLAETNA. B. DIEAA.




